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QUESTION PAPER SPECIFIC INSTRUCTIONS
Please read each of the following instructions carefully before attempting questions.
There are EIGHT questions divided in Two Sections and printed both in HINDI and in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and § are compulsory and out of the remaining, THREE are to be attempted choosing
at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be stated
clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will
be given for answers written in medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for answering the
question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.

s 5 sth-p-econ



(O SPM 45 ACATEWY ' gy

WUE ‘A’  SECTION ‘A’
1. frrafafaa § & WS 99T &1 SO @I 150 Sisel A G

Answer the following questions. in about 150 words : 10x5=50

1.(a)  HiE-TEE Ieared Hord & g framsie w & o faear 9w @ Fow il |

Derive the expansion path for a firm operating with the Cobb-Douglas Production
Function. 10

1.(b) “Qﬂﬂﬁlﬁﬂﬁﬂﬁﬁﬁm%wﬁrtﬁﬁwﬁaﬂw&ﬁm%ﬂﬂaﬁaﬁﬁ%ﬁﬁ
THIfUFR AT sifofa Tl wdl @ |7 =Amen Hif |

“Under monopolistic competition a firm enjoys monopoly power without enjoying
monopoly profit.” — Explain. 10

1.(c) aaﬁq%ﬁﬁﬁa%ﬁma@ﬁwﬁwﬁﬁwﬁa%ﬁm'
Bl ® |

Show that in the complete Keynesian model only fiscal policy is effective during
a period of depression. 10

1.(d) wﬁmﬁaﬁtamﬂé%mmﬁﬂaaaﬂ%ﬁaﬂ?maﬁawﬁwm%ﬁ@a}%
9 3R H TS AT |

Explain the difference between the assumptions of New Classical and the New

: Keynesian approaches in managing individuals and markets. 10
1.(e) Tufey T qof IewR Fenfdehl waly wree o1 aifdher fod €rar € |

Show that full employment is the logical conclusion of the Classical macro model.

: 10

2.(a) wﬁﬁwﬁw%mﬁ@waﬁmmﬁﬁ%mmaﬁ

Tt 17 feodt Hifirg |

“Pareto optimality conditions are nécessary but not sufficient conditions for social
welfare maximisation.” Comment. 15

2.(b) o aRkferkmel w "aw § == dife, S s sE gt st S oagE
3T ? | |

Discuss briefly the circumstances where fiscal expansion leads to full crowding
out. 15

2.(c) W?ﬁﬁq%ﬁmaﬁmﬁfﬁqﬁéﬁ?ﬁaaﬂﬁ afe wifgs ot s B 9,
ﬁmﬁmw&aﬁwﬁwmmaﬁiwﬁmm@ﬁmmqﬁaﬁh
B |

Explain how the equilibrium employment and real wage would change in a typically
classical model if, in the event of increase in supply of labour, money wage
becomes rigid. 20

3.(a)  WHI % Ay dT agAfa < oqem H, Wﬁﬁtaﬂgaﬁmwmﬁwﬁ%%q
Ferfed forer waR AisTag fosha a3k &1 FEaATd aRd § 7

How Chamberlin uses planned sales curve to explain equilibrium of a ﬁrm and
group when the entry of firms is permitted 4 o 15
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Demonetisation is expected to result in a fall in the ratio of currency to deposit.
Using the money multiplier theory explain its possible impact on supply of
money. : 15

T &R 2 T o qa1 gfid wa @wy a § S dedery f W d € 7 90
'rr—.rr—.r!jﬁ' TT ﬂﬁ:l%j‘l%ﬂ'; = ~ —rm-pn—r-—r, —T— T TTTTTETTTr —TrT—rT o]

dg Haldiql a1 ANishiNanieHi L':\ﬁ Eﬁi" diqiddiq <hi GHILT hldl % r

Why do you expect a high correlation between the money supply and aggregate

expenditure ? Does this resolve the monetarist-fiscalist debate ? 20
facita @ @1 B ® ? 3@ go IRl F1 Sed@ dhifsg |
What is financial repression ? Mention some of its consequences. 15

“qgr & foau d-e Wit ged = ) & WNE A=eE qe o @ 17 ==t il |

“Transaction demand for money is not always interest rate inelastic.” Discuss. 15

Tl UH o5 hl Gl W kTG AR FATEen g b gui & fow o = wifew
sfirrdat @t wase fifv |

Explain the Keynesian and classical extreme monetary assumptions for showing
their effects on the slope of the LM curve. 20

@UE ‘B’ SECTION ‘B’
frrafofaa & @ wls s o1 SR T 150 el # @

Answer the following questions in about 150 words each : 10x5=50
Tt 3R fieE aR-9R & &= Ag IR |
Distinguish between effective and differential tax incidence. 10
AR % Tocd Aed R aie oot fifaw |
Write a short note on gravity model of trade. 10
TEQTE 95k <hl GEEdl 8 Rl QY % gEaw uyes o fraier fifsg |

- Determine optimum tariff of a country with the help of offer curve. 10
rer-safie’ F@r 8 7 zae wn fafeaef € 7
What is ‘solow-residual’ 7 What are its implications ? 10

ARG & fou “feg’ & swarta, S=u fiem & =R & Far ffeard € 2

What are the implications of tradc in higher education under GATS for India ? = 10
“fopet ARG @ FHEFET WYEE o IR U STITGH UNTE SHEST AT ok g drEt
o R wed 2 17 faemen difsg |

“The consumption and production effects of a tariff for a commodity depend on the
elasticities of demand and supply respectively.” Discuss. 15
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6.(b) “fer fafma o woet & swwrta, R sefarden @ e g el #
HUR e § Fead Y o § Hifgew Gg=d deak e giar ¢ || samen i |

“Monetary Contraction is a better option than devaluation to improve balance of
payments position of a developing economy under fixed exchange rate system.”
Discuss. 15

6.(c) 1 A 38 TR @ agua § for fasg =R wen (S=g.21.30.) & i Heh AT
F ufa Wifq s awify )R 7 399 IR & Uy § HRU W wRd T |

Do you agree with the view that the honeymoon with free trade under W.T.O. is at
an end ? Give reasons for your answer. 20

7.(a) W%Qﬁdlm(ﬁdﬂlﬂldl%ﬁeﬁaﬁﬂﬁq\w Wﬁwﬁ@?ﬁ%lw
# ‘e o s fafemtor 4 sxae & fog agfaam &1 smame S smasas § | S
9,09, SR & WG WRA 98 H I gE o a9 0 HFIHI b a1 9 H#T T
e ?
Petroleum is sold in the world market and priced in US dollars. RISCO in India

must import petroleum to use it in its manufacturing. How are its profit affected
when Indian rupee depreciates against the US dollar ? 15

7.(b) T & FEHAAT WHA A UM Y iR wmen Hife | s Ferr &
siftrerame=or & fow @9 o fora paR snaem Ra € 2

State and discuss Arrow Imp0551b111ty theorem. How does Sen modify it for social

welfare maximisation ? : I:5
7.(c) TR fF wfa-wvem Saed wod fod 1@ 20 QFl A qeRd qEArhl W @l

wefifa &t 2 |

Show that Cobb-Douglas Production Function exhibits both Hicks and Harrod

neutral technical progress. 20

8.(a) “arfefer sifafYeaarat & ufoier # anffes faema @1 We=AA (Hirschman) &1 S9WH
dftreh el @ |7 faeEn i |

“In view of economic uncertamnes Hirschman approach to economic development
makes more sense.” Discuss. 15

8.(b) “ggferer s R ¥ wed TE-TRA (TT-TH) w1 wEIEE et st ARl =
arar @ 1”7 A Seayg R § e & afefa & dedf § w8 wum W ferooit it |

“The trade-off between environment and development remains unresolved.”
Comment in view of the United States exiting from Paris Climate Agreement. 15

8.(c)  HTARE WIESITeh U & Iouel B dlcll S dIG! STEAT hl qHedn i =amen i |

Discuss the problem of intergenerational inequity arising out of internal public
debt. 20
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